IT is gr8! @ Grade 12: Delphi

Activity 2


location := 1;

temp := arrNames[1];

for K := 2 to length(arrNames) do

begin



if (arrNames[k] <  arrNames[k - 1] ) then



begin





temp := arrNames[k];





location := k;





repeat






arrNames[location] := arrNames[location - 1];






location := location - 1;





until (location <= 1) or (arrNames[location - 1] < temp );




end; // if



arrNames[location] := temp;

end;  // for
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Conclusion: The given algorithm sorts the elements correctly
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